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Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one of these
alternatives is ‘CORRECT’ answer. The candidate has to write the Correct
Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. in the Answer
Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : V - A

Full Marks : 20 Time : Thirty Minutes

Choose the correct answer.
Each question carries 2 marks.

1. Let  : 0,1  f be such that

Then the value of

(A) is -1

(B) is 1

(C) is 0

(D) does not exist

2. The radius of convergence of the power series  is

(A) 1

(B) 0

(C) 1
2

(D) 

3. Define  by

and define  by

Then

(A) both f, g are Riemann integrable

(B) f is Riemann integrable but g is not Riemann integrable

(C) g is Riemann integrable but f is not Riemann integrable

(D) None of these

(  3  )



Turn Over

4. Let x; y   and define

Then

(A) both d1 and d2 are metric

(B) d1 is a metric but d2 is not a metric

(C) d1 is not a metric but d2 is a metric

(D) neither d1 and d2 is a metric

5. If f (z) = u + iv in polar form is analytic then


u
r  is

(A)



v

(B)



vr

(C)
1 


v
r

(D)




v

6. If A is an open set and B is a closed set in a metric space (X; d), then

(A) A \ B is open and B \ A  is closed

(B) A \ B is closed and B \ A is open

(C) A \ B is open and B \ A is open

(D) A \ B is closed and B \ A is closed.

7. If , for n = 1, 2, 3, ... then  equal to

(A) (–1, 1)

(B)
1 1,
2 2

   

(C)
1 1,
2 2

  
 

(D) {0}
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8.

(A) = 0

(B) = 1

(C) = – 1

(D) does not exist

9. The maximum of   2 2, 2 f x y x y  on the circle 2 2 1 x y  is —

(A) 0

(B) 1

(C) 2

(D) 3

10. The value of the integral   ,
R

xy x y dxdy where R = [0, 1]× [0,1], is

(A) 3

(B) 1
3

(C) 0

(D) 1

————————
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The figures in the margin indicate full marks.

Notations and symbols have their usual meanings.

Group - A

(50 Marks )

Answer any five questions : 10×5=50
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